Economics 3250 Dr. Lozada
Spring 2008 Exam 2

Do Not Turn This Page Over Until You Are So Instructed!

This exam has 25 points. There are six questions on the
exam. The questions are worth different numbers of points,
as indicated on the exam.

Put your answers to the exam in a blue book or on blank
sheets of paper.

You have one hour (that is, until 2:25pm) to take this
test. After the test is over, I'll lecture until the regular class
period ends.

Answer the questions using as much precision and detail
as the time allows. Correct answers which are unsupported
by explanations will not be awarded points.



Answer all of the following six questions.

. [6 points] Using a graph which has “Pollution Abatement” on its
horizontal axis, show that a Pigouvian tax can be more efficient than
a Standard for limiting pollution.

. [4 points] Your textbook mentions “technology-based standards,”
“ambient-based standards,” and “benefits-based standards.” Define
these terms and discuss which of these standards tend to be more
efficient.

. [4 points] Draw a graph with “effort” on the horizontal axis and
“dollars” on the vertical axis. On this graph, draw the steady-state
total cost curve and steady-state total revenue curve for a fishery.
Then identify on the graph:

(a) the level of effort which maximizes profit if the fishery is private
property;
(b) the level of effort that results from an open access fishery; and

(c¢) the maximum sustainable yield level of effort.

Please remember to explain all your answers: tell me why your answers
are correct.

. [4 points] Draw a graph with “quantity being mined of an exhausti-
ble resource” on the horizontal axis and “profit” on the vertical axis.
Suppose this relationship looks somewhat like an upside-down letter
“U.” On this graph, illustrate the Hotelling Rule. Also, talk about
where on this graph a firm which is not an exhaustible-resource firm
is located. What is the difference between the way a non-exhaustible-
resource firm behaves and the way an exhaustible-resource firm be-
haves? (It is OK to confine your answer to just the neoclassical point
of view.)

. [4 points] Defend the following opinion. (It’s not necessarily my
opinion, and it might not be yours, but construct a defense for it
anyway. )

“Purely voluntary actions by polluting firms to reduce pol-
lution do help a little, but they are not enough to reduce
pollution by as much as it should be reduced.”



Use a graph in your answer.

6. [3 points] Explain the following sentence: “Deposit-refund systems
are a tool to manage municipal solid waste.”
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